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UNLULL 1700,0
Fpkbwlwh ypnnyphkp b gpuukipmluyhl bnipkp 150
39263200 gqpuukiyuljuiht ghpp POUL  |hwwn 800 4,0 5
30192121 qunhlurynn gphs POUL  |gpuad 120 24,0 200
30192760 uphstikp PLUL  |Ippud 150 1,5 10
30197121 yndquid bplupim s POUS  fwmn  [150 1,5 10
30197122 Undquu yjuwuwndwuk gjjuhlny POUL  |unith 350 1,0 3
%0 197232 prpuywiul, wpuguljup pnpiw PLUL |hun 100 4,0 40
30197234 pnpuywiug Ynow juqguny POUL  [hun 1000 10 10
30197321 Yuphsubp POUL  |hun 600 3,0
30197340 wywluphsikp PLUL  |huwn 250 1,0
30197631 poupe A4 dnpuunh POUL  Junith 2050 81 40
30199231 twdwlh dpup PRUL |hwn 30 3 100
30197111 Juphsh dbnwunuywnpk Juukp thopp PLUL  Juinuh 100 1,0 10
30197112 Yuphsh dbnunuwjwnpk juwybp dhohtt PLUL  Jwunuh 200 3,4 17
39263420 wdpul Uknwnu Uks PRUL  |wnnmuth 400 8,0 20
39263410 wlpuwly Uknwnu thnpp PLUL  |uinmuth 120 3,6 30
Stunkuwlml, uwithhghkiply i j1jjmgph dponglibp 100,0
39831241 ofwn PPUL  |hun 240 2,4 10
39836000 wyly PPUL  |hwn 900 8,0 9
33761000 qniqupwith pninp PPUL  [hwn 100 2,0 20
31531210 HEjunpulwb judy 60W,80W,100W PLUL  |huwn 100 3.0 30
39224341 wnpupynbp wwundwuwhg PPUL |huwn 1000 7,0 7
39513200 pph widknnghljukp POUL  |Inpud 180 3.6 20
39811300 onh hnunnwykw hnwwuqlpshs PoUL |hun 370 3,7 10
30199790 wwwnh dudwignyg PRUL  |hun 7000 7,0 1
4411110 oph dnpwy PPUL  |hun 1500 3.0 2
44411121 oph dnpul] 2 thwlwing ppu¢  |hun 7000 7,0 1
39224332 ghljuuywn nniy POUL  |hun 1100 4,4 4
19641000 wnjhkph Euwghtt wwpl, woph hwdwp PPUL  |hun 10 1,0 100
39837000 quiu]k POUL  |hun 1700 34 2
39835000 hwwnwl] wppknt dnn ppu¢  |hun 4485 45 1
31531300 wnlnbunn (wdybp ppu¢  |hun 800 20,0 25
39831283 hunnuljh Jugdwi jup 3 ppu¢  |hun 1000 10,0 10
39831246 htnnily (ywugnn vhong ppu¢  |hun 800 4,0 5
39831240 Uwppnn Wyniphp ppuU¢ |thwp 600 3,0 5
39831280 wwuiljh dwppbint thong ppuU¢  |[hun 600 3,0 6
Spwbuynpunuyhl pipkp 300,0
09134200 lr}hqh] wjht Junkjhp,wiwnuyghi PoUL  jhup 470 300,0 638
Ujinnyuhbunwdwukp 300
34000000 Spwhiuynpuwghit vhongbiph uwppkp POUL  Inpud 1 300 300




09121700 plwluh quq POUL  |npud 1 550 1
22211100 ptppkp POUL  |npud 1 200 1
22451280 wnuukp POUL  Inpud 1 100 1
ouNUSNkE3NPL 8588,5
92300000 unnbwljul Uhgngunnidibph juquwlkpynud POUL  Inpud 1 600,0 1
30199740 hnipwin]kpubp POUL |npud 1 600,0 1
90511100 wnph hwjuwpdwh Swownipniitin PRUL  |gpud 1 1800 q
66110000 puliluiht Swpwnipmittibn |eoU<  [gpud 1 50 1
65111100 Judkjnt oph puounid PRUL  Inpud 1 200 1
65210000 qugh pwohunid POUL  |gpud 1 420 1
65200000 qugh puohudwl b npu htn juwyyws Swnwnipmiiiibp POUL |npud 1 27,5 q
65310000 b Eynpuluimipub puolinud POUS  [nput |1 3300 |1
64211230 Juquultpynipput pinghwinip hkpwuinuuhtt guiigh SwpuwynipEnibkp POUL  |ppuad 1 120 1
64200000 hnwhwnnppuljgdwb Swnwnipniaiikp PRUL  Inpud 1 144,0 1
50311240 wuwndkiwhwing uwppbph Jkpuimpngdwt Swnwnipinibitkp POUL  |gpuad 1 80 d
66511170 thnjuunpuidhongubph htn juwyyws wywhnjugpulju swnwnipniiiibp PLUL  |ppud 1 30,0 1
72261180 unbnijunjuliuh nkuininghwikph Spwgpuiht wywhnddwb vyuuwpnd [POUL Inpud 1 177 1
98000000 pughwinip pinyph wy) Sweuynipniiibp PRUL  Inpud 1 1040 1
UTUSULL 8048,8
45000000 shtwpupulwb woiwwnwbplbp POUL  Inpud 1 8048,8 1
99600000 qunud shwiinhuwgnn wy Swjuubp npuud 1 50370,7 |1
CLITULLL npud 68708,0




